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(a) Find the discriminant for the quadratic function x + 8x + 15.

(b) Write down the number of real solutions to the equation x + 8x + 15 = 0.

Discrinunont © b2-hac = X“-‘)U)('S):
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(a) Find the discriminant for the quadratic function x? + 8x + 15.
. b) Frw/\[a’, discriminant =4 >0
(b) Write down the number of real solutions to the equation x* + 8z + 15 = 0. o teare are
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On the axes below, show the region bounded by the inequalities
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() (i) Solve the equation 9 — x = 0. ) N .
(ii) Use symmetry to write down the coordinates of the turning point on the 45 L 9-='=0Q fodkonse

(3-0)(3+=)=0

graphofy = 9 — x2,

131

(b) Sketch the graph of y = 9 — x? and hence solve the inequality 9 — x? > 0.
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() (i) Solve the equation 9 — x = 0.
(i) Use symmetry to write down the coordinates of the turning point on the
graphofy = 9 — x2,

(6,9) Bl
(b) Sketch the graph of y = 9 — x? and hence solve the inequality 9 — x? > 0.
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(a) Write down, in terms of k, the discriminant of x? + 8x + 4k.

g is a onstank ond nda

q) a=1 b=8 =4k variodole.

[

(b) Hence find the values of k for which the equation x? + 8x + 4k = 0 has two real and
distinet solutions,

dcinioant . - hac = xl»tr(n(m:
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() Write down, in terms of k, the discrimi

ant of x? + 8x + 4k.

w b Tlae 2 reol s, the diserinant > O

(b) Hence find the values of k for which the equation x? + 8x + 4k = 0 has two real and bt — 16k >0

distinct solutions. © +lok
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‘Write down the three inequalities that define the region R shown in the diagram below.
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The total cost to a company manufacturing c cables is (500 + 3¢) pence.

The total income from selling all ¢ cables is (5¢ — 3500) pence. To coves cosk, Income wast be 8W Haamor quakh cott.

What is the minimum number of cables the company needs to sell in order to recover
their costs?

# Cost 500+ 3¢

lneog:  Be - 3500

£ To recver costs, ncome 3 sk
% 5¢-3500 > 500 +3¢
g 2c 2 4COO
N c 2 2000
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The equation x? + kx + 4 = 0, where k is a constant, has no real roots.
Find the possible value(s) of k.
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Solve the inequality 6x — 7 < 35, giving your answer in set notation.

4] Reasonge o molie AL clyeck.
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Solve the inequality 6 < 8x — 2 < 22.
A ey )
‘o can sdlve thase as 2 sepemie tnegualitzes or os 1.

31

Fsavemyexams

C w e o

"

R

N

¢ 2

le= €3





image1.png
Solve the inequalities: -
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Solve the inequalities: N .
) 2x-925(x-3) i; - - ks
(i) 3(5-x) <2(9-2x) 29 > 5(x-3) opend
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(a) Write down the solutions to (x — 3)(x — 8]

21 .
u\ fbr x-32:0 of x-8:0
(b) Sketch the graph of y = (x — 3)(x — 8), clearly showing the coordinates of the
points where the graph intercepts the x-axis.
%0
2]
(€) Hence, or otherwise, solve the inequality (x — 3)(x — 8) < 0.
21
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(a) Write down the solutions to (x — 3)(x — 8) = 0. 4aa solubions are
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(©) Hence, or otherwise, solve the inequality (x — 3)(x — 8) < 0.
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(a) Write down the solutions to (x — 3)(x — 8) = 0.

(b) Sketch the graph of y = (x — 3)(x - 8), clearly showing the coordinates of the
points where the graph intercepts the x-axis.

(<) Hence, or otherwise, solve the inequality (x — 3)(x — 8) < 0.
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<) Using the Qraph from part{b) chade the ggiows yhuse y <0
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